BITH ER278E2R128
BITIHRT: ERKESDMALE

AT (BERA) LERAER 2 899,000 (‘ﬁ')#ﬁﬁ% 2,885,000

: BREEH 2,890,000
B/NERKE 2,870,000
H=EEEHRE 2,870,000
WO - EH 2,890,000
EREFEIER 2,755,000 %L
BT IIRBEKETE 2,875,000
®T7OTHIE 2,880,000
L3 ETM 2,889,000

BB RE RN R TEIHSEAE ioaiimaen 4652455
MEIEZND 4,703,000
TIILEATEA 4,630,000
REHR#E) 4,467,850
MR B R IR 4,111,722 <LBIZF
EILBEFELE 4,111,722 %L
B 4,111,722  <LB|E
ARANET 4,111,722 <LBIZF
TOTDUTAME 4,111,722  <LB|E

£ B R T 1E I CRESRATED SRR IRMEKGE T 7:236,000

KERBZLE 7310000 2 JLEA TR 7,190,000
REHR#E) 6,944,500
WL R ER TR 6,421,467 <LBIE
(EILEREIE 7,310,000
B 6,421,467 &AL
ARANET 6421467 <UBIE
FHOT-HYTARE 6,421,467 <L3BI=




iig*ég—é(l*émﬁgiﬁu) 1 K £.378.000 EREKETZ 7,302,768 EAL
TILEA TR 8,230,000
REZR#E) 7,302,768 <L3|E
MR BR R IR 7,302,768 <L3|E
EILBEEIE 8,378,000
B 8,040,000
ARBINET 7,302,768 <L5IE
TOT )TN 7,302,768 <L3|E

o R S R B T3 S B S EREKEIZE 21,197,880
MEIEZD2 21,412,000
TIILEATEA 21,000,000
REHR#E) 20,341,400
MR B R IR 18,868,175 <L3B|&=
EILBEFELE 19,913,160
=B 20,550,000
ARBIET 18,868,175 <L3B|&=
TOTDUTAMH 18,868,175 %L

#}iTH Erk274E2H198
BITIHRT: TERKESBAILE

KEF LT CREFE AL A1) o R Bk 5 055,000 W7 RE 4700000 &l
EfRIE Y .
HHEBDETEE 4,920,000
IR E 4,900,000
BHEKEEITE 4,950,000
ENERKE 4,900,000
BRI KREKELE 4,950,000

SAAE T B (EB% - FAit) RE W7 2E 6,400,000

KEHRTE 6,654,000 ) :
BEBIUC=TYL T 8,550,000 Eii3)
HHEPETEE 6,200,000 FEH
BERFRER R 6,400,000
BRKEREIE 6,400,000
ENERKE 6,350,000
BERILAVAREKELE 6,400,000




JBETZT B (LEHhREERAD X
EKEMRLE

7,898,000

W7 RE 7,600,000
BHEPEITEH 7,535,000
(BIRFR R 7,460,000 %L
B KFREIE 7,600,000
B/NERKE 7,550,000
=LY REKELE 7,608,000

HNZT B (BT &AL s X 2
KEMBRIE

AIREER (FEEME B A Hh XA K
ERMRIE

17,582,000

23,172,000

EHRHBEIER 15,399,486

RFEERE T M 16,552,656

HWEFMH 17,582,000

MRiE A AREHRITXE iR
B=XkFREIE 14,840,946 K&
tREEMAE 15,381,996 %L
KELEM 15,151,800 K%
KT 6% 15,397,546

(PN B 15,381,996 LEIZF
RAMEIH 15,397,546

bR - Ity ) WL 25,600,000 35
B KZFEIE 15,376,766 K&

HEREFEIER 20,357,680 LI
RFERIE T M 20,357,680 LI
WEFHE 23,172,000
MIEAREHRITE 20,357,680 LI
B=KEMBIE 20,357,680 KCslE
#REERIAE 20,357,680 KCslE
ZTEIH )
KEIEM 20,357,680 &AL
KT 208 20,357,680 L5l
ABERBE LR 20,357,680 KCslE
RALKE R % T 20,357,680 KCslE
RMEIWH 20,357,680 KCslE




BIIEAXEKEMRIELZNI

23,571,000

ERREIER 20,712,729 <LslE
TR IR T XM 20,712,729 LI
WEFMH 23,571,000
MIEAREHRITE 20,712,729 LEIE
B=KEkEIZE 20,712,729 <LslE
tREEMAE 20,712,729 LE|E
ZEIM )]
RETEM 20,712,729 <LslE
P ] 20,712,729 %L
ERRBIERBEITE 20,712,729 <LslE
FEHFEIER 23,569,000

RALKE R % T %6 20,712,729 LEIZF
RAMEIH 20,712,729 KCslF

RIIFEHHMREKEMZRIEZON

28,611,000

HEREFEIER 25,180,932 LEIZF
RFEERE TR 25,180,932 LEIZF
HWEFMHE 28,611,000
MIEAREHRITE 25,180,932 S FL
B=kFREIE 25,180,932 LI
MREEMAE 25,180,932 LI
ZEIM ®5h
REIEM 25,180,932 LI
KEFT M) R

MR SRR T % 25,180,932 LI
FEHFEIER 28,579,000

RALKE R % T 25,180,932 LEIZF
RIEIH 25,180,932 KCslE




SRR (B — B A X BEHEREIE® 27,937,228 KCslE

EAEHRIELO2 B T 27937228 | <3l
WEFMH 31,731,000
MIEAREHRITE 27,937,228 LI
B=XkFRMEIE 27,937,228 LI
tREEMAE 27,937,228 LI
ZTEIH £
REIEH 27,937,228 %L
KT E£M) iR
AR T 27,937,228 CslF
RALKE R % T X6 27,937,228 LEIZF
RAMEIH 27,937,228 KCslF

EREKEMZIEZOT 46,487,000 [l e 10,000,000
RFEERIE T M 36,000,000
HWEFMH 46,487,000
MIEAREERITE 32,091,532 K&
B=kFREIE 41,158,198
MREEMAE 36,200,000
KELEM R
AT EM 41,157,266
MR R T % 41,157,266
RALKE R % T %6 33,920,000 %A
RMEIW 41,140,000

3 )1 F 3 X R K B HE A (BB

W) T 30,234,000 F— R T RMEAATTERT 30,100,000 &AL




